Omzoeopu na mecma u peuwieHus Ha 3aoauume:.

TPETH KJIAC
3AOAYA 1 A b B r i
3AOAYA 2 A =) B r i
3AO0AYA 3 A b B r i
3AOAYA 4 A b B r 1]
3AOAYA 5 A b B r O
3AOAYA 6 A b B r i
SAOAYA 7 A =) B r i
3AO0AYA 8 A =) B r i
3AOAYA 9 A =) B r i
3AOAYA 10 A =) B r i

Pemennsa na 3agaun 11u 12:

11 3agauva:
21 +2 + 1 = 24 0onu4Ku BCUYKO

24 : 3 = BKOJIMYKHU IO PaBHO
8 — 2 = 6xomuukwu [leTbp

8 — 1 = 7xonuuku NBan

21 — 13 = &onuuku Murio

12 3a1aua:
8+ 1+ 1=10wm™ apipkuHa

6 +1+ 1= 8w mmpuna
2.10 + 2.8 = 3@m manrena



